State Eligibility Test — 2017

Economics

(Final Answer Key)

Part-A

Q.No: 1 Under perfect competition is -

A Each buyer and seller is price maker

B Buyer’s are price maker while seller’s are price
taker

C Buyer’s are price taker while seller’s are price
maker

D Each buyer and seller in the market is a price
taker

Q.No: The kinked demand curve explains

A Price rigidity

B Price flexibility

C Demand rigidity

D Demand flexibility

Q.No: 3 Which of the following statement is false -

A Price elasticity of demand is negative for most
products

B Price elasticity of supply is positive for most
goods

C Income elasticity of demand is positive for
normal goods

D Cross elasticity of demand is positive between
complementry goods

Q.No: "Inferior goods" are those goods

A For which demand increases as price increases

B Which are in very short supply

C Which have zero cross elasticity of demand
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For which demand increases as income decreases 39 "est W faueh! AT 9 vl §

No: 5 The price elasticity of demand in the demand function X HiaT BoleT X = ap® & Hier ¥ FAa v §

= ap®is
A a
1
B b
Ab ab
No: 6 When average revenue is Rs. 12.00 and average cost is e 3 3T 12 & YT 3 @97 10 & & A9 Bl T gredt
Rs. 10.00 then firm makes gram
Normal profit HHATT ST
Super normal profit 3T AT AT
Net profit G ATH
Gross profit Hhel ST
No: 7 For downward movement along the iso-quant MRTS of HH-3cUTe WX TNAW M & FIT Gt uid gohrs 4
labour per unit of capital(MRTS) is given by - (MRTS ) iF=faf@d & ganrT g2y Jrdr &
dk/dl dk/dl
-dk/dl -dk/dl
dl/dk dl/dk
-dl/dk -dl/dk
.No: 8 The Multiplier effect will be applicable on - Wmaﬂ]\a’ﬁn -
Consumption 3T W]
Govt. Expenditure WHRT T ]
Net Export g fta w
All are correct goTH ¥ waft

No: 9 ;’ir:/eegebry_anent income hypothesis of consumption was Ul B earel 3 UReeuT ) Bl R -

Roberston ey
Friedman e
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.No: 10

.No: 11

.No: 12

.No: 13

.No: 14

Fisher

Marshall

The estimation of national income in India is
undertaken by -

Central statistical organization
National income committee
Planning commission

Reserve Bank Of India

"A country is poor because it is poor" are the words of
Singer

Hicks

Nurkse

Myrdal

Which of the following is not an instrument of
monetary policy -

Open market operation
Bank rate
Selective credit control

Govt. Expenditure

If the RBI desire to decrease the money supply then it
should

Lower the bank rate
Purchase securities from open market
Increase the CRR

Lower the repo rate

Speculative demand for money is dependent on -

Income
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.No: 15

.No: 16

.No: 17

.No: 18

.No: 19

Reserve money
Both (Income & Reserve money)

None of these are correct

Concept of economic development includes
Social sector development

Inclusive growth

Poverty eradication

All of these are correct

Who wrote 'Das Capital'
Karl Marx

Adam Smith

Marshall

Pigou

Golden age of development is said, when
G =G, =G,
G <G, <G,
G > G, > G,

None of these are correct

Who as propounded the theory of maximum social
advantage -

Myrdal
Dalton
Alfred Weber

None of these are correct

When did the first human development report
published

1972
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Q.No: 20

Q.No: 21

Q.No: 22

Q.No: 23

Q.No: 24

1982
1992
2002

Which of the following plan aimed at improving the

standard of living -
Third plan
Fourth plan

Fifth plan

Eighth plan

When was first new Industrial policy has been declared

in India -

April 1948
April 1949
April 1950

April 1952

The first five year plan of the Government Of India is

based on -

Leontief input — output model
Mahalanobis two sector model
Harrod - Domar model

Mahalanobis four sector model

The theory of public goods has been given by
Sameulson

Marshall

Hicks

None of these are correct

Which one of the following is causes of the
international debt crisis -

1982
1992
2002
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A Bad macro-economic management T AT -3 ey

B Rising interest rate el suTeT Y &

C Trade policies TR Afar

D All are correct goIH ¥ woft

Q.No: 25 Marginal efficiency of capital represents Yol T HHATT gafar & dread § fo

A Not affected by rate of interest ST FY T F yerfad et @y &

B Affected by the reduction in rate of interest TS & Y HAT T wsfRg SN &

C Affected by the increase in rate of interest ST X #Y gitg @ wanfaa el &

D All are correct oA @ st

Q.No: 26 The formula of high powered money - 3T AT Hal T FT &

A C+Cr+RR C+Cr+RR

B C+ D+ ER C+ D+ ER

C C + RR + ER C + RR + ER

D C + ER C + ER

Q.No: 27 Who is the writer of the book "A contribution to the "A Contribution to the theory of Trade cycle" J&a® &
theory of Trade cycle" Erecat

A Keynes Cac:)

B Marshall Aeier

C Pigou dier

D Hicks L2l

Q.No: 28 What is measured by "Lorenz Curve" "SReoT ash" T AT AT ST &

A Absolute equality fader wATAAT

B Relative equality HTYET HATAAT

C Unemployment CRE DI

D Income inequality Y Y fawean

Q.No: 29 Tobin tax is a tax on AffT = §



.No: 30

.No: 31

.No: 32

.No: 33

Tax on Export
Tax on Import
Tax on Transactions in foreign exchange

Tax on Sales

Which tax from the following is levied by union Govt.?
1.Income- tax

2.Custom duty

3.Central excise duty

4.Sales tax

1 and 2
1, 2and 3
1,2and 4

All

Transitional expenditure is related to which of the
following -

Education
Tele communication
Transportation

All of these are correct

Article 280 of constitution is related to
Finance commission

Information commission

Planning commission

Nana wati commission

When did "MODVAT" come?
1 March 1986
1 March 1985
1 March 1988

1 March 1987
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.No: 34

.No: 35

.No: 36

.No: 37

.No: 38

Which of the following is not a part of foreign exchange MFIATAd # & Rd # Hl1 fage fafas sRfara e =

reserve of India-

Gold
SDR,

Foreign currency assets

Securities held by the bank and co-operative
institutions

Which one of the following has propounded theory of
reciprocal demand to explain determination of
equilibrium terms of trade -

Mill
Ricardo
Haberler

Heckscher - Ohlin

In which year general Agreement on Tariffs and Trade
(GATT) was setup

1950
1949
1948
1946

The first historical summit of (SAARC) held in -
New Delhi

Dhaka

Lahore

Colombo

Bretton-wood is situated in
New Zealand

New - York
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Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

New - Hampshire

New - Heaven

Special drawing rights (SDRs) are in the form of :
Paper currency

Gold

Silver and Gold both

Book keeping entry only

Which one is the descending order of the various
sectors contributed to India gross domestic product -

Services - Industry - Agriculture
Services - Agriculture —-Industry
Industry - Services- Agriculture

Industry — Agriculture -Services

Which of the following committee recommend capital
account convertibility ?

Narsinham committee
Abid-hussian committee
Rangrajan committee

Tarapore committee

Responsibility of commercial bank is -
1.Time deposit

2.Demand deposit

3.Holding of security

4.Advance from central bank

1and 2
1,2and 3
1, 2and 4

1,2,3and 4

Iy fAerelY 31fUHR (SDRs) a0 &0 & glar &
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|

Fad g HfdeT yRAfe

HRA & Hehel B0 3cUTG A o) foU 1w fieet &1t & Areret
T hisT AT Teh 3TARIET e &

s
-y

o @TaT SRads T B RrRer T o R wff 3 @ o
e wfafa

e g W

R aRR

AR aR

aIffsas dF & g &
1. HT SAT

2. HET AT

3. wfdegfaar 1 aror
4, Fg I ¥ 3T

132
1,23k 3
1,2 3R 4
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Q.No: 43

Q.No: 44
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Q.No: 45

Q.No: 46
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Q.No: 47

Which of the following problem does not belong to
small and cottage industries -

Less use of capacity
Lack of capital
Competitive market

Govt. policies

If absolute error is +20 and relative error is +0.02,
then actual value will be -

1020
980
506

None of these are correct

Vertical curve represents the value of co-efficient of
correlation to be -

Positive
Negative

Zero

1

If r = 0.6 and N = 64 then find the probable error of
coefficient of correlation -

0.034
0.054
0.044
0.064

The null hypothesis of the sign test is that

Half the ranks to be less than the median and
half greater than the median

Half the ranks to be less than the mean and half
greater than the mean

The lower half the ranks to have the same mean

fArTfaf@a Taeamst & @ i & THEAT o JUT FERX 39N
A&

&THAT & FH TIT
9l T 38T
gfaaheft aem
WEHR $1 Afaar

3PR fR9eT I +20 3R @mder 3 +0.02 &, dF aedfas
e gl Sirwam

1020

980
506
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3WR r=0.6 3R N=64 Al e & UM & FeIfAd T Hr
EEICEIY

0.034
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0.044
0.064
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Q.No: 48

Q.No: 49

Q.No: 50
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Q.No: 1

A

B

as the upper half

The lower half the ranks to have the same (SD)

as the upper half

In a moderately skewed distribution
A.M. > G.M.> H.M.
G.M. > A.M. > H.M.
H.M. > G.M. > A.M.

H.M. > A.M. > G.M.

Probability which is based on self beliefs of persons
involved in experiment is classified as -

Subjective approach
Objective approach
Initiative approach

Sample approach

In regression equation x and y, bxy is equal to

Vr
r2/byx
R

None of these are correct

Part-B

The point of tangency between the social welfare
function & the utility possibility curve is -

The Bliss point
The break-even point
The pareto Optimum point

The second best point
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Q.No: 3
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Q.No: 4

Q.No: 5
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Q.No: 6

If demand function X = 20 - P? then price P = 2, what
will be the elasticity of demand?

ed =12
ed =-2
ed-2/4
ed =-3/4

Kinked demand theory was developed in

1938
1939
1941
1943

According to the permanent income hypothesis:

Long-run aggregate Average Propensity to
Consume (APC) equal the long run aggregate
Marginal Propensity to Consume(MPC)

Long-run aggregate APC is greater than the long
run aggregate MPC

Long-run aggregate APC is less than the long run
aggregate MPC

APC of every individual is equal irrespective of
different income level.

Which of the following is true about a firm in perfectly
competitive market?

(Where MP_ is marginal product of labour, MR is
marginal revenue and P is the price of the product or
average revenue )

MP, x MR = MP_ x P
MP, x MR < MP_ x P
MP, x MR > MP_ x P
MP, x MR = MP, x P

Which of the following is not a correct match ?
Inflationary Gap - Keynes

Cash Balance Approach - Pigou

g AT Bt X = 20 - PP T aT HAT P = 2, gled W AT
dra T geft ?

ed=1/2

ed = -2

ed-2/4

ed =-3/4

fagra Afer o1 Rigiar s fAwRad g3m
1938
1939
1941
1943

TYUTS 37T IReboTAT & HTAR

drdeTelter worer sitwa 3usier ygfa (APC) Qederels wavar
AT 3TN 93 (MPC) & e @xeh ¥
el WHAT APC drddrelle AT MPC & 39« gl

Erderelle T APC dd&Tells 9T MPC @ FH g1t &

YAF sgfad H1 APC R favder 3ma o F araeg |
AN E |

fFrfaf@a # & o o wfaash aoR & T @8 & (Stef MP-
o &Y dHT 3curgehar , MR - EYHIT 39T T W@1- 3cUTeaT St
HrHAT a1 Hrad IEA T )
MP_ x MR = MP_ x P
MP_ x MR < MP_ x P
MP,. x MR > MP_ x P
MP,. x MR = MP_x P

PFafatad & @ sl ar af Fee 78 &
TR 3rawrer - Had
e AV gfeeahIor - diay



Q.No: 7

Q.No: 8

Q.No: 9

Accelerator — Multiplier - Hicks analysis

Equation of exchange - Marshall

The credit multiplier based on the Assumption that -

1. The CRR remain constant

2. The bank maintain a fix relationship between deposit
liabilities and cash reserves

3. People prefer higher cash holding

4. People got well developed banking habits

Select the correct one from the code below

1,2 and 3
1, 2and 4

1and 4

2,3and 4

Saving &
Investments

2
Income

Which statement is true in connection of above
mentioned diagram -

1. Investment is autonomous
2. Saving is autonomous
3. Investment depend on Income

4. Saving is depend on Income

2and 3
1and 4
Only 3

Only 1

GNP deflator -

T -IoT - fRFw fAeeor
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GNP deflator = (Real GNP)/(Nomial GNP) x 100
GNP deflator = (Real GNP)/(Real GDP) x 100

GNP deflator = (Real NDP)/(Nomial NDP) x 100
GNP deflator = (Nomial GNP)/(Real GNP) x 100

Q.No: 10 The Phillips curve depicts

Q.No: 11
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Q.No: 12

Q.No: 13

O 0O W

The business cycle of the economy

Relationship between money supply and inflation

rate

Inflation and unemployement are unrelated in
the short run

Decrease in inflation rate temporarily increase
unemployment rate

How much calories consumption fixed per day to
determine rural poverty by planning commission of
India.

2200
2300
2100
2400

What will be the real growth rate. If at some point of
time income is Rs.600 crores. Saving is Rs.430 crores
and capital output ratio:4:1

2 percent
4 percent
6 percent

8 percent

In which year the Kissan credit card system was
introduced?

1978
1998
1988
2008

GNP deflator = (Real GNP)/(Nomial GNP) x 100
GNP deflator = (Real GNP)/(Real GDP) x 100

GNP deflator = (Real NDP)/(Nomial NDP) x 100
GNP deflator = (Nomial GNP)/(Real GNP) x 100

T gk gefiar §
FFTTEAT F IR THT &Y

iy #Y aX wa a7gT $ qfed #F waw
IeqshTer & FaT THIA AR R &7 F Faa 78 ¢

a1 TR A & F Folt F F RIS F & A srearh gy
Aere |

HR & FTSTeAT AT & AT I 8 Ffdfea fehctetr ey
39T T AT far &

2200
2300
2100
2400

Ife fFel IAT 3T 600 a3 T ,§9d 430 FU3 T 3R
Yol 3cUTE T 4:1 & oY aredfash gig e Fam gl

2 yfaera
4 gfaera
6 ufaera
8 wfaera

fora a¥ # foraret | o cgawT o] T aTg ot -

1978
1998
1988
2008



Q.No: 14

Q.No: 15
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Q.No: 16

The premise, that benefit of economic growth will
reach all section of population is called

Trickle up effect
Trickle down effect
Take-off effect

Regressive effect

According to 2011 census what is the density of
population of India.

316
324
382
392

The distribution of the burden of paying tax is called

Sharing of tax burden
Shifting of tax
Incidence of the tax

Tax capitalization

3TYR TR JTAGEAT & 3T A1eT &1 31k 9y &1 orey
T, FHEellal §

T &Y 3 Reara &1 werma (RfFer 3rq warma )
A #r 3R Reama &1 worma (RfFer sr3er woma )
T FRTd goma

CIGCICIRCEICE

IR Y STTHEAT &7 Teicd 2011 aﬁrm%a@ﬁww%

316
324
382
392

F & HR & TIAOT T Hgl AT &
FT & 0N HY qre=

U &1 gRafda &

FT & [Rade

FT HT G

Q.No: 17
A

B

Q.No: 18

The business cycle is defined as -

An effort to reach full employment
Changing wage & prices

The growth in Real GDP

Changing the period of economic growth &
contraction

The role of government taxes and spending to get
economic outcomes is known as.

Fiscal policy
Monetary policy
Foreign trade policy

Income policy

SATIR Tk hl IRHATT § -

qof USHIR T g9 T 99
drat 3T Aegh A TRad=T
arrafas S # afy

(4

s iy ik dgaa F1a & aRada

3T RO & grod A & T T T g @It &
IRade e A AT AT R |

T Aifer
wifee i
fageft =R Afa
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.No: 19

.No: 20

.No: 21

.No: 22

.No: 23

Which of the following will cause the investment
demand curve to shift to the left

A decrease in tax
Improvement is expected in future sales
Increase in interest rate

Increase in price of raw material

Distinction between autonomous investment and
induced investment has been made by

Classical economist
Keynesian economist
Post-Keynesian economist

All are correct

In which year the new liberalized industrial policy was

announced in India
1990
1991
1993
1995

"Vent for surplus approach" is applicable to
Rich countries

Under developed countries

Oil exporting countries

None of these are correct

Which of the following is not a fiscal instrument
Open market operation
Public expenditure

Taxation

RTART & O HiT TT HROT AU HGT I HT 95 B
gRafda & -

A FA

wenfaa sifsr #) R 3 gfes
T X A it

w4 AT 1 FrE A giee

TarRIa 92T vd 9Ra Faer & g & o) Har

IRFIRE et
AT srefareh
Aeg F a1g F refarE
w3t Rwew wd

fohd I 9RA & 5 e A S r avwom g5 -

1990
1991
1993
1995
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Q.No: 24

Q.No: 25

Q.No: 26

Q.No: 27

Q.No: 28

None of these are correct

Function of money are

Medium of exchange

Unit of value

Both (Medium of exchange & Unit of value)

None of these are correct

Type of Inflation are
Creeping Inflation
Walking Inflation
Running Inflation

All are correct

Which one of the following is not a function of
commercial bank

Issuing currency
Credit creation
Issuing travelers cheque

None of these are correct

According to Keynes the transaction demand for
money is mainly a function of

Rate of interest
Profit
Wages

Income

Which one of the following represents M;
M, + post office saving bank deposit

Currency with public + demand deposits

FYE RAFeT v 7&t

qAT & F &

fafasa &1 Aeaw

s 1 5

At (RfAAT &1 AT vF 7o 1 5518)
1§ Rweq wd 7@t
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Terd TR
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Tl farew wet

fArfaf@a & & i a1 F1 TR & #1 a8 §
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a1E F1 fAAfor
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M, + STFER & S9d & STAT
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.No: 29

.No: 30

.No: 31

.No: 32

.No: 33

M; + time deposits with bank

None of these are correct

The elasticity of speculative demand for money under
the liquidity trap condition will be

Zero
One
Greater than one

Infinite

The theory that the transaction demand for money
also depends on the rate of interest was put forwarded
by

Keynes and pigou

Baumol and Tobin

Hicks and Solo

Samuelson and Meada

The MRTP Act of 1969 has been

Replaced by competition Act, 2002
Merged in industrial policy Act of 1978
Merged in industrial policy Act of 1991

None of these are correct

The seventh plan marked a departure from
Harrod-Domar grow mode;
Mahalanobis model

Vakil brahmhanand model

Kaldorian model

The Quick Mail Service(QMS) was introduced in

1965

M; + 3% & W GAT STAT

FYE RAFeT wd 7&t

STl HeT T AT I S AT Sirel 1 [Ty # gl -

AT
N
Th

T @ AOH

HET & ool &1 & FAeeia & saret it e R AR ar fraes

#rew 3 diey
A T AT
Rew sk Arer
Hrgerwer 3R At

1969 & T 3R & N(MRTP) Az #
FlFqdnere fRfaaes 2012 & g fGar
sigzifas fifa sffags 1978 & s =
stz sfifa srffags 1991 & s =
1§ RpeT wd 8

HIadT ATl T Tl el ATAT AT &
tis-3T Az &
FETAaw Al &

T FFeleiE Alsel
FIASIRIT Al &

T AT FaAT(QMS e Y& T 1S
1965
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.No: 34

.No: 35

.No: 36

.No: 37

.No: 38

1985
1975
1955

When was SIDBI established

1969
1979
1989

None of these are correct

When did second Industrial policy announced

April 1956
April 1955
April 1961

April 1965

Who is known as a father of Green Revolution in India?

M.S. Swaminathan
Abhijit Sen
K.N.Natraj

None of these are correct

Family welfare programme has been launched in

India?
1953
1955
1951
1957

What is Poverty Index According to Sen's
Intensity of Poverty
Equality of Poverty

Equality of Absolute Poverty

1985
1975
1955

SIDBI aﬁrwwgé

1969
1979
1989

F1E RFeT a8 78

R 3tz A A e a1
3w 1956
3w 1955
e 1961
3w 1965

R & sRA Fifa T STk fhd FgT ST &
TH. . Ty

st dF

&.0e. ARIST

F1E RFeT 98 78

AT & TRAR HeAT0T HIRISHH il 3ITR—T =T

1953
1955
1951
1957

AT T I RAERMTH FATE -
I IrgeTan
it AT

et i Hr AT



Q.No: 39

Q.No: 40

Equality of relative Poverty

Which is an important characteristics of developing
economy

Low level of human development Index
Excess of capital

Low level of fundamental resources

Both (Low level of human development Index &
Low level of fundamental resources)

Match the following
List - |

List -1l

a. SCPapproach 1. JamesBuchanan

b. Transactioncosttheory | 2. New classicaltheory
¢. Public choice theory 3. H-H index

d. Industrial concentration | 4. Williamson

NO =0

A RO WY NO
AO

NT WO »UT LT

= 0
WES N RO we

Q.No: 41 Argument in favour of infant industry -

A

B

Q.No: 42

Price discrimination
Product diversification
Protection of domestic Industries

Resource accumulation

NFSH is abbreviation for
National Family Health Survey

National Farmers Health Survey

grdeT D) Y FATAAT

3oufash il srdfeaaedr i fAAVATHT & Fgcaqol fAAvard &
AT AT gasiE 1 fAeT T

Feafaw it F1 g

TR FAHEAT FT et T

AT (AT R GaaiE F1 @ FaX v ATUReydT gt
FT fAFT TR)

gofea difore
el el
F. UF 91 91 SurmE 1,587 ghTA
T oad dnTd fagrd 2. AaGAT gD | fagTd
T AT e gl 3 gE-gd gl
o Elfie de=aol 4. faferasa

#-2 ,@-4, 7 -1,9-3
#-3 ,@-4, 7 -2,9-1
#-1,@-3, 7 -4,9-2

#-4 ,@-2, 7 -1,9-3

TR1e[ 3N T TehTeld & T&T A b -
o e

Seure fafaerar

e it 1 e

HHTE STEET

L]

NFSH Hfaicd ®9 &
TE IRER Farey adaor
TS fFaTeT Farey gdaor
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.No: 43

.No: 44

.No: 45

.No: 46

.No: 47

National Family Household Survey

None of these are correct

Which one of the following is Ravi crop
Rice

Jowar

Cotton

Peas

Who is known as the Father of White Revolution?
V.Kurian

M.S. Swaminathan

Baba Ramdev

Baba Amte

The present share of agriculture in GDP of India is
around?

11
14
59
60

A centralized (cartel) -

Lead to monopoly solution

Behaves as the multi plant monopolist, if it wants

to minimize the total cost of production

It is illegal in the U.S.

All are correct

NAFED is a
Industry

Non-government organization

T IRaR R wdaor
FYE RFeT v 7&t

AT NS o &

13143

e, Hifd & ar & 17 8§ foFe ST 71 §
TH TH T

&7 [T

91T 3R

FAATT 7 FH T HRA T L 7 TeT3797 ket 7197 ¥

11
14
59
60

HEfr 3cuTesT I9
THITAHR $T 3T 3R a1 &

Ifx ¥ 3T H Fo AR F FAAH FAT AEAT § At
TEHRETAT THIAHRY Y TE TGN FIAT §

.. A R FEE
gl Qeea W &

T U U% 5 3 (NAFED) T

3erer

~

IR T FEu



Q.No: 48

Q.No: 49

Q.No: 50

Q.No: 51

Government body

Co-operative organization

In a negative skewed distribution, order of mean,
median and mode is

mean < median < mode
mean > median > mode
mean < median > mode

mean > median < mode

Which of the following is an absolute measure of
dispersion?

Coefficient of variation
Coefficient of Range
Standard deviation

Coefficient of Skewnes

Three factories A, B, C have 100, 200 and 300 workers
respectively. The mean of the wages is the same in
three factories. Which of the following statement is
true?

There is a great variance in factory C

Standard deviation in factory A is smallest
Standard deviation is factory C is equal

None of these are correct

Which measure of correcting the disequilibrium of
balance of payment is known as "Marshall Lerner
condition"

Flexible exchange rate
Controlled exchange rate
Revaluation elasticity approach

Absorption mechanism

TN Ferr
HEPRY TEATA

WW%W%W:#H&H,MU&WWW
g

AL < AT < Sgelh
ATET > AfeYST > qgos
AL < AfeYFH > qgoH
ATET > ACIFT < qgoH

FATA@T & Pl TT 39THIOT &7 HUeT AT &
Rrecor o
Rrea 7o
gAY fRaeeT
Rvare g

et HRE A, B ,C # HARER 100, 200,d 300 #HseT & |
3o cliell HREEA! H HGY T AT FA § | et 7 & &ler &1
FUA T § -

FR@ET C FT RAravor sifts §
FREET A & 5 9A7T Qe &
FRETAT C A YA Raae T §
15 REeT wd 7@t

Wﬁ@aﬂ@rmﬂaﬁmmﬁaﬁam%ﬁr
"HITS -l AT & & H ST ST

arel fafasa &
fafya RAfawT o
A AT T

srgenyor [Afer



Q.No: 52 Who propounded purchasing power parity theory - H rferd GAAT fAeeia &1 gfaures fhas forar

A Viner ClECTy

B Ricardo Reprsf

C Ohlin efere

D None of these are correct s AFeT Tt agr

Q.No: 53 If__aspe'yre‘s Index = 100, paache's Index = 108, the mw = 110 9T FIhish = 108, T &t
isher's Ideal index is equal to 3T gahich FUET BRI

A 110 110

B 100 100

C 108 108

D 109 109

Q.No: 54 In a straight line equation Y = a + bx; b is the - T Hrefy Y@ gHeRoTY = a + bx; #b ¥ -
A Y - intercept Y - 3raRitreT

B Slop arel

C X- Intercept X- a0

D Trend ggfed

Which of the following are the type of disequilibrium in

Q.No: 55 balance of payment? ﬁmﬁﬁaﬁaw%ﬁwﬁmq}mww%
A Secular disequilibrium ErdpTelleT IrHereT

B Cyclical disequilibrium TH el

C Structural disequilibrium WIAATCHE e

D All are correct st ReeT a8

Keynes argued that the level of economic activity is I 1 7% & & e fafafea é;wa’—”o@m : foei

Q.No: 56 predominantly deteremined by the level of & GanT garg
A Aggregate demand HHI AT
B Aggregate supply o qfet
C Unemployment LD

D Interest rate g7 g3



Q.No: 57

Q.No: 58
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Q.No: 59

Q.No: 60

Q.No: 61

Which theory is generally included under Micro
economics-

Price theory
Income theory
Employment theory

None of these are correct

For a monopolist price is 16 and marginal revenue is 4
the elasticity of demand will be -

4/3
3/a

a4

a

Who among the following economists used the
technique of kinked demand curve to explains price
rigidity under oligopoly?

Paul sweezy

Hall and Hitch

Chamberlin

Stigler

What would be the consequences for the OLS
estimator heteroscedasticity is present in a regression
model but ignored?

It will be biased
It will be inefficient
It will be inconsistent

All are correct

Euro came into circulation since
January 1, 1996

January 1, 1997

A R (@i 1 are e & dEd FiFATad
T et -

faAa Reara

I fegia
VIR Fregia

1§ Req 7l a8

Teh THITUSRT & fow i HAT 16 § v HAd 3MeTH 4 §
Hiar T e gl -

4/3

3/4

4

1/4

A 7 @ g 3rarET o e R & hIEd SIsdT
TS o fIC fagRd AT sk dehetier 1 91T fohar

arer Edis
gl T RT
IrRfaT
RFearer

NTATH (OLS) 3MTehcdel & AT YRUTS grar I JHATSRIOT
Afser & favw RERa & ) o 7oK - 3gier &7 &ar 9 m &

Jg qaTarqer grem
IE H&TH g
I§ HHT M
a3l Rsew 7@

U AT Tl A e A &
FeTail 1 1996
FeTail 1 1997



Q.No: 62
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Q.No: 63

Q.No: 64

Q.No: 65

January 1, 1998

January 1, 1999

Who sanction soft loans

IMF
IDA
WTO

None of these are correct

Statement (A) - special drawing right is a only book-
keeping entry of a account of any country

Reason(R) - Special drawing Right is also known as
paper Gold.

Explanation:

Both 'A' and 'R’ correct and 'R’, is correct
explanation of 'A’

Both 'A' and 'R’ correct and 'R’, is not correct
explanation of 'A’

'A' is true but 'R’ is false

'A' is false but 'R’ is true

At the present bilateral trade between India and
Viyatnam is 4.8 crores dollar. Now by 2050 it will
reached to how many crores?

11 crore dollar
15 crore dollar
17 crore dollar

19 crore dollar

Newly established universal bank have to register their
shares with the stock exchange with in 6 years, from
starting work as per the new Direction of August 2016.
Before that this restriction was limited to

2 years
3 years
4 years

5 years

STl 1 1998
Seradl 1 1999

T HOT & TN et & &
IMF
IDA
wWTO

FYE RAFeT wd 7&t

FYUA (T) - AT 3807 1SR AT ST F W A had Th
forarey gfafse §

FROT (IR) - AT 3807 3SR Y FHrereiy Tt 8t gt
ST -

T 3 IR T 18 ¥ FUT AR, © Y 9 urEAT AT ¥

T 3 IR T FE ¥ quT AR, T Ay W AT 7 Far ¥

T A § W AR AT ¥

T 3HT § W AR A §

HRA T A=A & S Aler gfavefT <R 4.8 #13 3R
FT & T 2050 I rdel AT STeR LT T e I@T I-T &

11 A3 TR
15 FUs ST’
17 &3 s}

19 U3 e

7 T glel aTel TeliaHel Sehl 1 1A el & 6 ¥ & T
39 AR T Fieh TSl A FAGEE HIaAT §1aT , 3TE
2016 & SIRY 7 e fader & AR ¢ - 98 @@ A fher a
2:|T_

2ay
3 a§
4y
5a¥



Q.No: 66

Q.No: 67

Q.No: 68

Q.No: 69

Q.No: 70

Low productivity for agriculture in India attributed to
Poor irrigation

Heavy dependence on monsoon

Absence of new technology

All are correct

Which Indian state stand first in the production of
coffee

Haryana
Punjab
Utter Pradesh

Karnataka

Which Industry provides the largest employment in
India?

Chemical Industry
Textiles Industry
Iron and Steel Industry

Jute Industry

Which of the following organization looks after the
credit needs of agriculture and Rural development in
India?

FCI

IDBI

NABARD

ICAR

The strategy of rolling plan was adopted under the
PrimeMinistership of

Indira Gandhi

Morarji Desai

HRA 7 FIY T =T Scaganar & a7 FROTE -
oo s

AH 91 e st

A€ ThAIT FT AT

wsht Ao 7@

FIPT & IcTeeT A PieT T HARAT T AT &

gRamom
qTe

EIGEL

HRA A FATTF AR HleT AT 3SATT Feled T &

THT 3EFT

FUsT 38T

el vd 9T e
qeH 3¢INT

~

frafaf@a & @ @l o dear sRa & ardor Rera v FiRY
Y & IR ATIHT T AT Wil &

s Y TS

g 3 o 3§

CICIE

. "L T AR

3Tercit Aottt Y e &l fohd TereTa= & &R &iel A 3afiehel
T I

gfem anieft
AR &aTs



.No: 71

.No: 72

.No: 73

.No: 74

Q.No: 75

Rajiv Gandhi

Jawaharlal Nehru

Which elements are included under technological
process by Prof. Kuznet's

Scientific discovery and invention
Innovation and improvement
Technical social change

All are correct

The role of state under globalization is-
Zero

Maximum

Minimum

Indifferent

The growth of agriculture production was negative in
the-

First plan
Second plan
Third plan

All are correct

Who wrote the book on "economic backwardness &
economic growth" in 1957

Schumpeter
Karl Marx
Leibenstine

Marshall

Economic environment is influenced by -

TS el

T FTACH o Aehettehl TTT & TelciITel it A TAcal T FHAET

forar &
dofas @ va snfasar
qayads g GUR
aFeAthT AATIIS GREeeT
Tt fRweT wd

TRV H A T AT & -
NGl

AfFan

FY Scdre HI gite HoTcHs -
qgell At A

il Zorem #

et e #

waft e we

"economic backwardness & economic growth" aATH®

qEcsh 1957 & fanaat forgdr
et

FTE ATEH

AdET

A

3T gataRoT wenfad gar g



Domestic economic situation

World economic situation

Both (Domestic economic situation & World
economic situation)

None of these are correct
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